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Use the order of operations to solve each of the following expressions. You must show your work.

1. (9+3)+2 2. 2x4)-4+3
A 4 A7
B. 27 B. 6
C: 11 C: 1
D. None of the above D. None of the above
3. 36-(4+8)+4 4, 50-5x(27+3)
A. 30 A. 45
B. 6 B. 20
C. 33 C: 5
D. None of the above D. None of the above
5. 3x2+(6+2) 6. 9+ x(8+2)
A. 14 A. 100
B. 16 B. 160
C. 18 C. 50
D. 45 D. 68
7. 99+ 11+(3x3) 8. (7x3)+(4x9)
A. 18 A, 30
B. 36 B. 57
C. 27 C. 46
D. 1 D. 23
9. 4+5x2+36 10, (7x2)+9x3
A. 60 A. 248
B. 54 B. 67
C. 78 C. 41
D. 89 D. 109




